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Science EOG Review Homework Packet

Directions: Answer 3 questions each night.  Use your notebook to help you.  Choose the letter that best answers each question then justify your answer choice.  Attach lined paper if necessary.  
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Monday, May 4th:
1.) Aisha measured and recorded the high and low temperatures for four days. She also recorded the average high and low temperatures for each day. 
	  
	 Monday 
	 Tuesday 
	 Wednesday 
	Thursday 

	 High Temperature (°F) 
	66 
	65 
	39 
	52 

	 Low Temperature (°F) 
	43 
	20 
	19 
	37 

	 Average Daily High
 Temperature (°F) 
	52 
	53 
	53 
	53 

	 Average Daily Low
 Temperature (°F) 
	36 
	36 
	37 
	37 


How many days was the measured temperature outside of the average range? 

a.) 1


c.)   3

b.) 2


d.)   4

2.) Land heats up faster during the day than water does. As the beach gets warm during the day, it heats the air above it. The warm air rises and cool air from the ocean is pulled in to replace it. So, air flows from the ocean to the land. At night, the land cools faster than the ocean. What most likely happens to the air at the beach at night?
a.) The air is still.



c.)   The air flows from the ocean to the land.
b.) The air moves along the coast. 

d.)   The air flows from the land to the ocean. 
3.) Examine the following weather data.
	 High temperature 
	 48°F 
	 Precipitation 
	 0 cm 

	 Low temperature 
	 44°F 
	 Wind speed 
	 1–5 mph 

	 First high tide 
	 2:37 AM 
	 Air pressure 
	 30.05 in. 

	 First low tide 
	 8:15 AM 
	 Moon visibility 
	 79% 


This day was clear and cool. If it rained the next day, which numbers would most likely change? 

a.) precipitation and air pressure

c.)   moon visibility and low temperature

b.) air pressure and moon visibility

d.)   low temperature and precipitation 

Tuesday, May 5th: 

4.) Dexter saw lightning. Which of the following cloud types was most likely present?
a.) Cirrus


c.)   Cumulonimbus 



b.) Cumulus 


d.)   Nimbostratus 

5.) Which correctly compares low- and high-pressure weather systems?
a.) A low-pressure system usually brings cool dry air and clear skies, while a high-pressure system brings clouds and precipitation.
b.) A low-pressure system usually brings clouds and precipitation, while a high-pressure system brings cool dry air and clear skies.
c.) A low-pressure system usually brings warm dry air and clear skies, while a high-pressure system usually brings warm moist air and precipitation.
d.) A low-pressure system usually brings warm moist air and clear skies, while a high-pressure system usually brings clouds and precipitation.
6.) [image: image2.png]


How would the daytime temperature for Figure 2 differ from Figure 1?
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= Warm current (Gulf Stream)

= Cold current (Labrador Current))





Wednesday, May 6th: 

7.) Which has the greatest effect on the movement of the jet stream? 
a.) size of clouds


c.)   differences in air pressure
b.) amount of precipitation

d.)   direction of global winds 
8.) Which types of winds cause weather in North Carolina?
a.) Polar easterlies


c.)  Prevailing easterlies
b.) Polar westerlies 


d.)  Prevailing westerlies 
9.) The graphic below shows an approaching cold front.
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Thursday, May 7th: 
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10.) Why do hurricanes die out soon after hitting landfall?
a.) Cloud types change.

b.) Warm water no longer feeds them. 

c.) Rotation of the storm changes direction. 

d.) There are too many trees and buildings in the way.

11.) Why would residents along the coast of NC most likely be concerned about a strong La Niña event in August?
a.) La Niña returns every 2-7 years. 

b.) La Niña can mean an active hurricane season. 

c.) La Niña can mean a decrease in winter precipitation. 

d.) La Niña is associated with very warm ocean temperatures. 
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Monday, May 11th:

12.) Ospreys are birds that eat fish. Where would an osprey most likely live?
a.) Near a forest
b.) Near a prairie 
c.) Near a marsh
d.) Near a desert 
13.) In the food web to the right, which organisms are producers?

14.) Which best explains why the sun is important to all ecosystems? 
a.) It provides heat.
b.) It provides daylight. 
c.) Producers rely on the sun to make their food. 

d.) Consumers rely on the sun to wake up each day. 
Tuesday, May 12th:


15.) Students rolled a 22-gram car down three 
different ramps.  The results from the 

investigation are shown in the table to the right.
Which statement best explains why the car rolled down the 

wood ramp the fastest?

a.) There was more force applied to the car on the wood ramp.

b.) There was less friction on the surface of the wood ramp.

c.) The wood ramp was higher than the other ramps.

d.) The car on the wood ramp had more mass. 

16.) How does the mass of an object affect acceleration?
a.) The greater the mass of an object, the greater the force needed to accelerate the object.
b.) The greater the mass of an object, the smaller the force needed to accelerate the object.
c.) The smaller the mass of an object, the greater the force needed to decelerate the object.
d.) The smaller the mass of an object, the smaller the force needed to accelerate the object.
17.) A toy robot moved from a starting point and traveled in a straight line at different speeds. Then the robot turned around and traveled in a straight line at different speeds as it returned to its starting point.


Wednesday, May 13th:

18.) Which best describes all unicellular organisms?
a.) Every cell is round.


c.)  Every cell can move on its own.
b.) Every cell can make food.


d.)  Every cell performs all life functions
19.) Which organisms are capable of surviving as a single cell?
a.) Humans


c.)  Bacteria 
b.) Plants


d.)  Worms

20.) Which best explains how the muscular system relies on the respiratory system?
a.) The respiratory system cools the muscular system.
b.) The respiratory system brings oxygen into the body for the muscular system to use.
c.) The respiratory system acts as the support system for the muscular system.
d.) The respiratory system delivers blood cells to the muscular system to use. 

21.) Which system moves waste through the digestive system?
a.) Nervous system

c.)  Cardiovascular system
b.) Muscular system

d.)  Skeletal system 

Thursday, May 14th:

22.) Both of Cindy’s parents have naturally brown hair. Which best explains why Cindy has red hair?

a.) Cindy’s cousin has red hair.

c.)  Cindy’s grandmother has red hair.
b.) Cindy’s best friend has red hair.

d.)  Cindy dyed her hair red. 
23.) Which best explains why a child may look like his father but is not able to play basketball as well as him?
a.) Physical characteristics are inherited, but the ability to shoot a basketball is not.

b.) The ability to shoot a basketball is inherited, but physical characteristics are not. 

c.) The child chooses to look like his father, but he does not choose to play basketball.

d.) The child chooses not to look like his father and he does not choose to play basketball.

24.) When Terri begins to write her name, she is showing which type of characteristic?

a.) Innate


c.)  Learned
b.) Inherited 


d.)  Educated 
25.) Jonathan observes two birds on the beach. One bird has a long, narrow beak while the other bird has a short, thick beak. Which best explains why the two birds have different types of beaks?

a.) The birds have the same parents.

b.) The birds live in different environments.

c.) The birds are members of different communities.  

d.) The birds are members of different species.

Monday, May 18th:

26.) Which fact best explains why most evaporation happens in the oceans?
a.) Ocean water is salty.

b.) There are mountain ranges on the ocean floor. 

c.) Fewer clouds block sunlight over the ocean.

d.) About 97 percent of Earth’s water is ocean water.

27.) Robert fills an 8-lb cooler with 20 lbs of ice. After leaving the cooler in the sun for an hour, how much will the cooler and the melted ice weigh?

a.) 12 lbs.


c.)  28 lbs.
b.) 20 lbs.


d.)  30 lbs.
28.) Examine the diagram to the right.  What would a teacher most likely use this image to explain?
a.) Heat being added and taken away is causing physical changes in the water.
b.) Air being added and taken away is causing physical changes in the water.
c.) Heat being added and taken away is causing chemical changes in the water.
d.) Air being added and taken away is causing chemical changes in the water.
29.) Nick and Allison are conducting experiments in science class. In which experiment will the students most likely observe a new material being formed?

a.) melting ice in containers at different temperatures

b.) dissolving different amounts of salt into water

c.) burning different types of paper

d.) boiling the same amount of different liquids 


Tuesday, May 19th:

30.) The illustration below shows how heat can move through the atmosphere as air circulates.

31.) Yuko designed an experiment to test the effect of heating and cooling on air. She blew up two balloons to similar sizes and measured their circumferences. She placed one balloon in a freezer for one hour and left the second balloon on the table. After one hour she measured their circumferences again. She then left both balloons on the table for one more hour. The graph below shows the change in the sizes of the balloons during the experiment.
32.) Jim wakes up early in the morning and walks from his carpeted bedroom to the tiled kitchen. Which best describes why, despite being the same temperature, the tile floor feels cooler to his feet than the carpet?

a.) Tile is a better conductor of heat and transfers heat away from his skin.

b.) Tile is a poor conductor of heat and transfers heat to his skin.

c.) Carpet is a bad conductor of heat and transfers heat to his skin.

d.) Carpet is a better conductor of heat and transfers heat away from his skin. 

frog and rat


rat and leaves


leaves and berries


snake and squirrel 





Which sentence describes the motion of the robot between seconds 3 and 4?


The robot was moving away from the starting point. 


The robot was moving toward the starting point. 


The robot was stopped in one place away from the starting point. 


The robot was moving back and forth around the starting point.








WEATHER





The temperature would be the same. 


The temperature would be lower due to cloud cover.


The temperature would be higher due to the greenhouse effect.


The temperature would be much higher since the sun’s radiation is not blocked by cloud cover.








What will most likely happen as a result of the approaching cold front?


It will produce no precipitation.


It will produce some precipitation.


It will produce brief periods of heavy precipitation.


It will produce long periods of light to steady precipitation. 








Examine the graphic to the left.  Which country would Great Britain’s climate be most like if the Gulf Stream and the Labrador Current did not exist?


Brazil 		c.)  Australia


Canada		d.)  Great Britain 
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What causes the circulation of air?


Air in the atmosphere is heated by the Sun and sinks to the ground.


The ground is heated by the Sun and then heats the air, causing the air to rise.


Air loses heat to the ground and then rises upward to obtain more energy.


The Sun heats the clouds which forces the cooler air to move away and sink.





Which statement best explains the differences seen between the two balloons during the experiment?


Air contracts when cooled but is not affected by warming.


Balloons put more pressure on cold air than room temperature air.


Cooling causes air to contract and heating causes air to expand.


Freezing causes balloons to contract and thawing causes them expand.








